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| FHE 81| 113,200 A 5.0 24| 294,700 A 6.5| 2| 124,000 A 2.8] 2| 50,500] A 2.9] 6] 39,100 A 3.6] 115| 146,300 A 5.
#| 2| 23| 213,700 A 9.6 5| 813,800 A 10.5] - - -| 1] 76,000 A 5.0 1] 62,0000 A 12.7[ 30| 304,100 A 9.7
3|t 35( 146,500] A 7.3[ 8| 401,000 A 8.8 2| 132,000 A 6.9 1| 65000 A 3.0[ 1] 24,000 A 59| 47| 184,900 A 7.4
| 4| AREE 13| 28,500 A 3.0 4] 52,1001 A 2.9 1| 26,500 A 2.2| - - -| 3] 12,400 A 3.4 21f 30,600 A 3.0
5[k F 30| 148,400| A 5.0 7| 370,400 A 6.8 - - -l - - -| 1] 70,500 A 6.0[ 38| 187,200 A 5.4
| e|Ermh 16| 66,200( A 3.9 2 125600 A 3.5 - - -l - - -| 1] 28,700 A 4.3[ 19| 70,500 A 3.9
7|pRH T 15| 56,200( A 3.2] 2 111,500 A 3.1| - - -l - - -| 2| 11,3000 A 2.2[ 19| 57,300 A 3.1
| 8|tEATH 16| 78,100 A 2.6] 3[ 119,700 A 1.9| - - -l - - -| 1] 14,600 A 4.6] 20[ 81,100 A 2.6
9| H &S 11] 159,200] A 6.0 1| 265,000 A 3.6] - - -l - - -l - - -| 12| 168,000 A 5.8
x| 10|kt 36[ 117,800| A 4.8 4 560,300 A 4.7 1] 114,000 A 3.4 - - -| 3] 34,900 A 3.5 44| 152,300 A 4.7
L1 27| 50,800 A 5.6| 4] 83,900 A 5.6] 2| 29,500 A 4.5| 1| 17,600 A 4.9] 3| 18,400 A 5.9] 37| 49,700 A 5.5
| 127 14| 131,300 A 4.1 1| 312,000 A 4.9| - - -l - - -| 1] 53,000 A 4.5 16| 137,700 A 4.2
I3[\ TFART 16| 122,500 A 2.6] 2| 203,500 A 2.0| - - -l - - -| 1] 38,000 A 3.8 19| 126,500 A 2.6
~| 14| FfR T 12| 103,200 A 4.9 2| 103,500 A 2.7 - - -l - - -| 1] 36,300 A 4.5 15[ 98,800 A 4.6
15|87 10| 93,000 A 5.2 1 108,000 A 9.2[ - - -l - - -| 1] 45,700 A 11.3[ 12| 90,300 A 6.1
| 16| 7| 30,700] A 2.1 1| 60,400 A 2.1 1| 20,300 A 2.4 - - -| 1] 13,900 A 2.8[ 10| 30,900 A 2.2
| 17) & 4] 20,200 A 2.8 1 22,500 A 2.2| - - -l - - -l 1] 10,700 A 2.7 6] 19,000 A 2.7
{b| 18|zt 10| 311, 700{A 10.5| 1| 635000 A 12.4| 1| 142,000 A 53| - - -l - - -| 12| 324,500] A 10.2
X | 19| putEE i 9| 66,100 A 2.6 1| 105,000 A 2.8| - - -l - - -| 1] 20,900 A 4.6] 11| 65500 A 2.8
k| 20 i 6| 42,700 A 4.3 1] 78,500 A 4.8] 1| 24,500 A 5.8] 1| 22,200 A 55| 1] 12,200 A 5.4 10| 39,300 A 4.7
21|FPG 6| 53,800 A 3.2[ 1] 50,300 A 3.6] - - -l - - -l 1] 14,700 A 2.6 8| 48,500 A 3.2
| 22| FFH 4| 75,900] A 6.0[ - - -l - - -l - - -| 1] 36,500 A 3.9 5| 68,0000 A 5.5
#l 23| & Bl 4| 47,400| A 2.6 1] 103,000 A 1.9| - - -l - - -| 1] 13,800 A 4.2 6| 51,100 A 2.8
| 24 i % HAT 4| 53,400] A 3.8[ - - -l - - -l - - - 1] 9,200 A B2 5| 44,500 A 4.0
3% 25|FIig kT 1| 37,500 A 3.1 - - -l - - -l - - -| 2| 10,600 A 1.9 3 19,600 A 2.3
26| AHKFT - - -l - - -l - - -l - - -| 2| 12,800 A 1.9 2| 12,800 A 1.9
| 27|y 3| 40,800 A 3.4 1f 73,000 A 1.4 - - -l - - -l 1] 9,700 A 1.0 5| 41,000 A 2.5
28| KA 1 AT 4] 28,600 A 4.8 1] 46,600 A 4.9| - - -l - - -l 1] 11,300 A 5.8 6| 28,700 A 5.
NS 417/ 110,500 A 5.0| 79 291,600 A 5.8/ 11| 81,700 A 4.3| 6| 47,000 A 4.0|40| 25,700 A 4.2| 553| 129,000 A 5.
29|k 8| 32,800 A 2.2| 2| 84,800 A 2.9] 1| 26,400 A 2.2| - - -l - - -| 11 41,200 A 2
30|#E L 7| 28,500 A 2.5 43,900 A 2.8 - - -l - - -l - - - 9| 31,900 A 2.
31| 10] 27,100 A 5.6] 3| 49,300 A 58| 1| 13,000 A 6.5 - - -l - - -| 14| 30,900 A 5.7
32|#ar 6| 24,700 A 5.0 2| 52,200 A 42| - - -l 1] 11,2000 A 6.7 - - - 9| 29,300 A 5.0
33| BT 4] 21,100 A 2.2 1] 47,600 A 3.3] - - -l - - -l - - - 5| 26,400 A 2.4
| 34| i 5 21,900( A 2.6 35,300 A 2.7| - - - - - - - - - 7] 257000 A 2.6
" 35|51 7| 22,000 A 2.5/ 3| 33,2000 A 2.7 - - -l - - -l - - -| 10| 25400 A 2.6
[ 3e[ i 6| 20,200 A 3.9 1] 49,900 A 55| - - -l - - -l - - - 7| 24,400 A 4.1
a7 Bk 5[ 19,900 A 2.5 1| 62,300 A 50 - - -l 1] 7,600 A 5.0 - - - 7| 24,200 A 3.2
| 38 [ F H et 8| 26,100 A 3.1| 3] 47,200 A 4.4 - - -l 1] 9,500 A 5.0 - - -| 12| 30,000 A 3.6
| 39| ik 12] 14,800 A 4.5 2| 39,100 A 7.1| - - -l 1] 9,500 A 6.9 - - -l 15| 17,700 A 4.8
" 40| VNF it 8| 17,500 A 2.7 1] 33,800 A 2.6| - - -l - - -l - - - 9] 19,300 A 2.
41| Ay 3[ 10,300 A 3.7 1| 24,200 A 4.0 - - -l - - -l - - - 4] 13,800 A 3.
[ 42|z HEmy 3[ 14,100 A 2.1 1f 17,100 A 2.8 - - -l - - -l - - - 4| 14,900 A 2.:
FE| 43| JL AT 4 10,200( A 6.0 - - -[ 1] 11,900] A 4.8] - - -l - - - 5| 10,500] A 5.
gal 44[ZLnr 4 11,500] A 4.0[ - - -l - - -1 1| 8,100| A 8.0 - - - 5| 10,800 A 4.
45| R T 8 12,000 A 4.1 1 33,300 A 4.9 - - -l - - -l - - - 9 14,400 A 4.
7! 46| My 4] 23,800| A 2.8 1| 32,800| A 3.5| - - -l - - -l - - - 5| 25,600 A 3.
T ar| g 4 13,100 A 5.0[ - - -l - - -l - - -l - - - 4| 13,100 A 5.
48| (4717 4 11,800| A 6.0[ - - -l - - -l - - -l - - - 4| 11,800 A 6.
49| E-pgmy 3 9,600 A 4.4 - - -l - - -l - - -l - - - 3 9,600 A 4
50| fEfEHT 3| 19,900 A 3.3] 1 33,500 A 3.2| - - -l - - -l - - - 4] 23,300 A 3.
Dk 5[ 10,800 A 3.4 - - -l - - -l - - -l - - - 5 10,800 A 3.
B HE 2| 18,400| A 2.1f - - -l - - -l - - -l - - - 2| 18,400 A 2.
AN EE 133] 19,600 A 3.6] 28] 44,100 A 3.9| 3| 17,100 A 4.5 5| 9,200 A 6.3| - - - 169 23,300 A 3.
#oriEt i 3| 550 88,500 A 4.7[ 107 226,800 A 5.3[ 14| 67,800[ A 4.3]11| 29,800 A 5.1|40| 25,700 A 4.2 722| 104,200 A 4.
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51|f R 28| 15,400 A 2.3| 2| 26,300 A 2.6| - - - - - - 30[ 16,100 A 2.3
5| 52|y 3 7,600 A 2.1 1f 18,000 A 2.7 - - -l - - - - 4| 10,200 A 2.3
* 53| BEIRAT 4| 13,600 A 4.6 - - - - -l - - - - 4| 13,600 A 4.6
| A& 4] 11,900| A 4.6 - - - - -l - - - - 4] 11,900 A 4.6
HE e 2=tu) 4] 7,800 A 2.7 1 17,000 A 2.9| - - -l - - - - 5| 9,600 A 2.7
1| 56 |gERaMT 4] 14,800| A 2.0[ 1] 24,500 A 2.8] - - -l - - - - 5| 16,700 A 2.1
x| | 8| 11,200 A 2.9 1] 19,900 A 3.4 - - -l - - - - 9| 12,100 A 3.0
i Jgs T 1| 8600 A 23] - - - - -l - - - - 1| 8600 A 2.3
i 3] 7,700] A 4.4 - - - - -l - - - - 3| 7,700 A 4.4
L weiit 1| 7,500 A 2.0 - - - - -l - - - - 1| 7,500 A 2.0
Sh R 5| 12,600( A 2.6] 1 23,000 A 3 - - -l - - - - 6| 14,400 A 2.7
o| |EE 3| 16,000( A 2.4] - - - - -l - - - - 3| 16,000 A 2.4
i3] 3| 9,200 A 3.9 - - - - -l - - - - 39,2000 A 3.9
= FH 3| 8,600 A 2.3 - - - - -l - - - - 3| 8,600 A 2.3
B oty 5 9,900 & 2.8] - - - - - - - - - 5| 9,900 & 28
Rrnr 1| 7,400 A 5.1 - - - - -l - - - - 1| 7,400 A 5.1
Al 80| 12,400 A 2.8 7[ 22,100 A 2.9 - - -l - - - - 87| 13,200 A 2.8
&t 630| 78,800 A 4.5 114] 214,200 A 5.2|14] 67,800 A 4.3| 11| 29,800 A 5.1|40| 25,700 A 4 809| 94,400 A 4.6




